Journal of Linear and Topological Algebra Vol. 09, No. 04, 2020, 253-266



# On new types of contraction mappings in bipolar metric spaces and applications

G. N. V. Kishore<sup>a</sup>, H. Işık<sup>b,\*</sup>, H. Aydi<sup>c</sup>, B. S. Rao<sup>d</sup>, D. R. Prasad<sup>e</sup>

<sup>a</sup>Department of Engineering Mathematics, SRKR Engineering College, Bhimavaram Andhra Pradesh, 532410, India.

<sup>b</sup>Department of Engineering Basic Science, Bandırma Onyedi Eylül University, 10200 Bandırma, Balıkesir, Turkey.

<sup>c</sup> Université de Sousse, Institut Supérieur d'Informatique et des Techniques de Communication H. Sousse 4000, Tunisia.

<sup>d</sup>Department of Mathematics, Dr. B.R. Ambedkar University, Srikakulam Andhra Pradesh, 532410, India.

<sup>e</sup>Department of Mathematics, K. L. University, Vaddeswaram, Guntur-522 502, Andhra Pradesh, India.

Received 22 March 2020; Revised 24 September 2020; Accepted 6 November 2020. Communicated by Ghasem Soleimani Rad

**Abstract.** Our aim is to present some common fixed point theorems in bipolar metric spaces via certain contractive conditions. Some examples have been provided to illustrate the effectiveness of new results. At the end, we give two applications dealing with homotopy theory and integral equations.

© 2020 IAUCTB. All rights reserved.

**Keywords:**  $\lambda$ -admissible mapping,  $\lambda - (\chi, \zeta)$ -type contraction mapping, completeness and fixed point.

2010 AMS Subject Classification: 54H25, 47H10, 54E50.

# 1. Introduction and Preliminaries

Fixed point theory has been gained a vital role because of its wide applications in homotopy theory, integral, integro-differential and impulsive differential equations, obtaining solutions of optimization problems, approximation theory and nonlinear analysis.

© 2020 IAUCTB. All rights reserved. http://jlta.iauctb.ac.ir

<sup>\*</sup>Corresponding author.

E-mail address: kishore.apr2@gmail.com (G. N. V. Kishore); h.isik@alparslan.edu.tr, isikhuseyin76@gmail.com (H. Işık); hassen.aydi@isima.rnu.tn (H. Aydi); srinivasabagathi@gmail.com (B. S. Rao); ramprasadmphil09@gmail.com (D. R. Prasad).

Further, many of fixed point theorems are used not only in various mathematical investigations, but also problems in economics, game theory, computer science and digital image processing. Due to its applications in mathematics and other related disciplines, Banach contraction principle has been generalized in many directions. Extensions of Banach contraction principle have been obtained either by generalizing the domain of the mapping or by extending the contractive condition on the mappings (see, [1, 2, 8–13, 16, 21– 23]). Among them, Mutlu and Gürdal [18] initiated the notion of bipolar metric spaces and gave variant related (coupled) fixed point results for covariant and contravariant contractive mappings. See also ([14, 15, 19, 20]).

The notion of  $\alpha$ -admissibility has been introduced by Samet et al. [25] and has been generalized by Salimi et al. [24]. For other related papers, see ([3–7, 17]) and references cited therein.

In what follows, we collect relevant definitions needed in our subsequent discussions.

**Definition 1.1** [18] Let  $\mathcal{P}$  and  $\mathcal{Q}$  be a two non-empty sets. If the function  $d: \mathcal{P} \times \mathcal{Q} \rightarrow [0, +\infty)$  verifies:

 $\begin{array}{ll} (B_1) \ d(p,q) = 0 \text{ implies that } p = q; \\ (B_2) \ p = q \text{ implies that } d(p,q) = 0; \\ (B_3) \ \text{if } (p,q) \in (\mathcal{P},\mathcal{Q}), \text{ then } d(p,q) = d(q,p); \\ (B_4) \ d(p_1,q_2) \leqslant d(p_1,q_1) + d(p_2,q_1) + d(p_2,q_2), \end{array}$ 

for all  $p, p_1, p_2 \in \mathcal{P}$  and  $q, q_1, q_2 \in \mathcal{Q}$ , then d is said to be a bipolar metric on  $(\mathcal{P}, \mathcal{Q})$ . Note that  $(\mathcal{P}, \mathcal{Q}, d)$  is said to be a bipolar metric space.

**Example 1.2** [18] Let  $A = (1, +\infty)$  and B = [-1, 1]. Define  $d : A \times B \to [0, +\infty)$  as  $d(a, b) = |a^2 - b^2|$ , for all  $(a, b) \in (A, B)$ . Then the triple (A, B, d) is a bipolar metric space.

**Example 1.3** [18] Let  $A = \{f \mid f : \mathbb{R} \to [1,3]\}$  be the set of all functions and  $B = \mathbb{R}$ . Define  $d : A \times B \to [0, +\infty)$  as d(f, a) = f(a), for all  $(f, a) \in (A, B)$ . Then the triple (A, B, d) is a disjoint bipolar metric space.

**Definition 1.4** [18] Let  $(\mathcal{P}_1, \mathcal{Q}_1)$  and  $(\mathcal{P}_2, \mathcal{Q}_2)$  be two pairs of sets. Given  $S : \mathcal{P}_1 \cup \mathcal{Q}_1 \to \mathcal{P}_2 \cup \mathcal{Q}_2$  is called

- (i) covariant if  $S(\mathcal{P}_1) \subseteq \mathcal{P}_2$  and  $S(\mathcal{Q}_1) \subseteq \mathcal{Q}_2$ . This is denoted as  $S : (\mathcal{P}_1, \mathcal{Q}_1) \rightrightarrows (\mathcal{P}_2, \mathcal{Q}_2);$
- (*ii*) contravariant if  $S(\mathcal{P}_1) \subseteq \mathcal{Q}_2$  and  $S(\mathcal{Q}_1) \subseteq \mathcal{P}_2$ . It is denoted as  $S : (\mathcal{P}_1, \mathcal{Q}_1) \rightleftharpoons (\mathcal{P}_2, \mathcal{Q}_2)$ .

Particularly, if  $d_1$  and  $d_2$  are bipolar metrics on  $(\mathcal{P}_1, \mathcal{Q}_1)$  and  $(\mathcal{P}_2, \mathcal{Q}_2)$ , respectively, we often write  $S : (\mathcal{P}_1, \mathcal{Q}_1, d_1) \rightrightarrows (\mathcal{P}_2, \mathcal{Q}_2, d_2)$  and  $S : (\mathcal{P}_1, \mathcal{Q}_1, d_1) \rightrightarrows (\mathcal{P}_2, \mathcal{Q}_2, d_2)$ .

**Definition 1.5** [18] Given a bipolar metric space  $(\mathcal{P}, \mathcal{Q}, d)$  and  $\xi \in \mathcal{P} \cup \mathcal{Q}$ .

- (i) Such  $\xi$  is a left point if  $\xi \in \mathcal{P}$ ;
- (*ii*) Such  $\xi$  is a right point if  $\xi \in \mathcal{Q}$ ;
- (*iii*) Such  $\xi$  is a central point if it is both left and right.

Also,  $\{p_n\}$  in  $\mathcal{P}$  is a left sequence.  $\{q_n\}$  in  $\mathcal{Q}$  is a right sequence. In a bipolar metric space, we call a sequence, a left or a right one. A sequence  $\{u_n\}$  is said to be convergent to u iff either  $\{u_n\}$  is a left sequence, u is a right point and  $\lim_{n\to\infty} d(u_n, u) = 0$ , or  $\{u_n\}$  is a right sequence, u is a left point and  $\lim_{n\to\infty} d(u, u_n) = 0$ . The bisequence  $(\{p_n\}, \{q_n\})$  on  $(\mathcal{P}, \mathcal{Q}, d)$ is a sequence on  $\mathcal{P} \times \mathcal{Q}$ . In the case where  $\{p_n\}$  and  $\{q_n\}$  are both convergent, then  $(\{p_n\}, \{q_n\})$  is convergent.  $(\{p_n\}, \{q_n\})$  is a Cauchy bisequence if  $\lim_{n,m\to\infty} d(p_n, q_m) = 0$ .

Note that every convergent Cauchy bisequence is biconvergent. The bipolar metric space is complete, if each Cauchy bisequence is convergent (and so it is biconvergent).

**Definition 1.6** [14] Let  $S, T : (\mathcal{P}, \mathcal{Q}) \Rightarrow (\mathcal{P}, \mathcal{Q})$  be two covariant mappings on a bipolar metric space  $(\mathcal{P}, \mathcal{Q}, d)$ . The pair  $\{S, T\}$  is compatible iff  $\lim_{n \to \infty} d(STp_n, TSq_n) = \lim_{n \to \infty} d(TSp_n, STq_n) = 0$ , whenever  $(\{p_n\}, \{q_n\})$  is a sequence in  $(\mathcal{P}, \mathcal{Q})$  so that

$$\lim_{n \to \infty} Sp_n = \lim_{n \to \infty} Sq_n = \lim_{n \to \infty} Tp_n = \lim_{n \to \infty} Tq_n = \tau,$$

for some  $\tau \in \mathcal{P} \cup \mathcal{Q}$ .

## 2. Common fixed points for single-valued admissible mappings

Let  $\Omega$  be the set of increasing continuous functions  $\chi : [0, +\infty) \to [0, +\infty)$ . Denote by  $\Upsilon$  be the collection of lower-semicontinuous functions  $\zeta : [0, +\infty) \to [0, +\infty)$  so that  $\zeta(\nu) = 0$  iff  $\nu = 0$ .

**Definition 2.1** Let  $F : \mathcal{P} \cup \mathcal{Q} \to \mathcal{P} \cup \mathcal{Q}$  be a covariant mapping and given  $\lambda : \mathcal{P} \cup \mathcal{Q} \to [0, +\infty)$ . Such F is called  $\lambda$ -admissible, if  $\xi \in \mathcal{P} \cup \mathcal{Q}$  with  $\lambda(\xi) \ge 1$ , implies  $\lambda(F\xi) \ge 1$ .

**Theorem 2.2** Let  $S, T : (\mathcal{P}, \mathcal{Q}) \Rightarrow (\mathcal{P}, \mathcal{Q})$  be  $\lambda$ -admissible mappings on a complete bipolar metric space  $(\mathcal{P}, \mathcal{Q}, d)$  so that  $S(\mathcal{P} \cup \mathcal{Q}) \subseteq T(\mathcal{P} \cup \mathcal{Q})$ . Assume that the following assertions hold:

- (i) there exists  $p_0 \in \mathcal{P} \cup \mathcal{Q}$  so that  $\lambda(p_0) \ge 1$ ;
- (ii) either T is continuous, or;
- (*iii*) if  $(\{a_n\}, \{b_n\})$  is a bisequence in  $(\mathcal{P}, \mathcal{Q})$  so that  $(a_n, b_n) \to (\kappa, \kappa)$  with  $\lambda(a_n) \ge 1$ ,  $\lambda(b_n) \ge 1$  for each n, then  $\lambda(\kappa) \ge 1$ ;
- $(iv) \{S, T\}$  is compatible;
- (v)  $\lambda(p)\lambda(q) \ge 1 \Rightarrow \chi(d(Sp, Sq)) \le \chi(d(Tp, Tq)) \zeta(d(Tp, Tq))$  for all  $p \in \mathcal{P}, q \in \mathcal{Q}$ where  $\chi \in \Omega$  and  $\zeta \in \Upsilon$ .

Then  $S, T : \mathcal{P} \cup \mathcal{Q} \to \mathcal{P} \cup \mathcal{Q}$  have a common fixed point. Moreover, if  $\lambda(p) \ge 1$  and  $\lambda(q) \ge 1$  for all  $p, q \in \mathcal{P} \cup \mathcal{Q}$  are fixed points of S and T, then such common fixed point is unique.

**Proof.** Let  $p_0 \in \mathcal{P}$  and  $q_0 \in \mathcal{Q}$ . As  $S(\mathcal{P} \cup \mathcal{Q}) \subseteq T(\mathcal{P} \cup \mathcal{Q})$ , there is  $p_1 \in \mathcal{P}$  and  $q_1 \in \mathcal{Q}$  such that  $Sp_0 = Tp_1$  and  $Sq_0 = Tq_1$ . Continuing in same process, we get  $p_n, p_{n+1}$  in  $\mathcal{P}$  and  $q_n, q_{n+1}$  in  $\mathcal{Q}$  in order that  $Sp_n = Tp_{n+1}$  and  $Sq_n = Tq_{n+1}$ . Define the bisequence  $(\{\omega_n\}, \{\xi_n\})$  in  $(\mathcal{P}, \mathcal{Q})$  as  $\omega_n = Sp_n = Tp_{n+1}$  and  $\xi_n = Sq_n = Tq_{n+1}$  for  $n \ge 0$ .

Since S and T are  $\lambda$ -admissible mappings and  $\lambda(p_0) \ge 1$ , one has  $\lambda(\omega_0) = \lambda(Sp_0) = \lambda(Tp_1) \ge 1$  and since  $\lambda(q_0) \ge 1$ , then  $\lambda(\xi_0) = \lambda(Sq_0) = \lambda(Tq_1) \ge 1$ . By continuing this process, we get that  $\lambda(\omega_n) \ge 1$ ,  $\lambda(\xi_n) \ge 1$  for all  $n \in N \cup \{0\}$ . Equivalently,  $\lambda(\omega_n)\lambda(\xi_{n-1}) \ge 1$ ,  $\lambda(\omega_{n-1})\lambda(\xi_n) \ge 1$  and  $\lambda(\omega_n)\lambda(\xi_n) \ge 1$  for all  $n \ge 1$ . By using the condition (v), we get

$$\chi \left( d\left(\omega_{n}, \xi_{n+1}\right) \right) = \chi \left( d\left(Sp_{n}, Sq_{n+1}\right) \right)$$

$$\leq \chi \left( d\left(Tp_{n}, Tq_{n+1}\right) \right) - \zeta \left( d\left(Tp_{n}, Tq_{n+1}\right) \right)$$

$$= \chi \left( d\left(\omega_{n-1}, \xi_{n}\right) \right) - \zeta \left( d\left(\omega_{n-1}, \xi_{n}\right) \right)$$

$$\leq \chi \left( d\left(\omega_{n-1}, \xi_{n}\right) \right), \qquad (1)$$

G. N. V. Kishore et al. / J. Linear. Topological. Algebra. 09(04) (2020) 253-266.

and thus

$$d(\omega_n, \xi_{n+1}) \leqslant d(\omega_{n-1}, \xi_n).$$
<sup>(2)</sup>

Also, one writes

$$\chi \left( d\left(\omega_{n+1}, \xi_n\right) \right) = \chi \left( d\left(Sp_{n+1}, Sq_n\right) \right)$$

$$\leq \chi \left( d\left(Tp_{n+1}, Tq_n\right) \right) - \zeta \left( d\left(Tp_{n+1}, Tq_n\right) \right)$$

$$= \chi \left( d\left(\omega_n, \xi_{n-1}\right) \right) - \zeta \left( d\left(\omega_n, \xi_{n-1}\right) \right)$$

$$\leq \chi \left( d\left(\omega_n, \xi_{n-1}\right) \right). \tag{3}$$

We deduce that

$$d(\omega_{n+1},\xi_n) \leqslant d(\omega_n,\xi_{n-1}).$$
(4)

Moreover,

$$\chi \left( d\left(\omega_{n}, \xi_{n}\right) \right) = \chi \left( d\left(Sp_{n}, Sq_{n}\right) \right)$$

$$\leq \chi \left( d\left(Tp_{n}, Tq_{n}\right) \right) - \zeta \left( d\left(Tp_{n}, Tq_{n}\right) \right)$$

$$= \chi \left( d\left(\omega_{n-1}, \xi_{n-1}\right) \right) - \zeta \left( d\left(\omega_{n-1}, \xi_{n-1}\right) \right)$$

$$\leq \chi \left( d\left(\omega_{n-1}, \xi_{n-1}\right) \right).$$
(5)

Consequently,

$$d(\omega_n, \xi_n) \leqslant d(\omega_{n-1}, \xi_{n-1}).$$
(6)

Combining (2), (4) and (6) yields that the bisequence  $(\{\omega_n\}, \{\xi_n\})$  is non-increasing, so it biconverges to  $\delta \ge 0$ . When  $n \to \infty$  in equations (1), (3) and (5), we get

 $\chi(\delta) \leqslant \chi(\delta) - \zeta(\delta),$ 

that is,  $\zeta(\delta) = 0$ , so  $\delta = 0$ . Therefore,

$$\lim_{n \to \infty} d(\omega_n, \xi_{n+1}) = 0.$$
(7)

Now, we shall show  $(\{\omega_n\}, \{\xi_n\})$  is a Cauchy bisequence. Suppose there is  $\epsilon > 0$ , for which there are  $\{\omega_{n_k}\}, \{\omega_{m_k}\}$  of  $\{\omega_n\}$  and  $\{\xi_{n_k}\}, \{\xi_{m_k}\}$  of  $\{\xi_n\}$  with  $n_k > m_k \ge k$  so that

$$d(\omega_{n_k}, \xi_{m_k}) \ge \epsilon,$$
  
$$d(\omega_{n_k-1}, \xi_{m_k}) < \epsilon,$$
(8)

and

$$d(\omega_{m_k}, \xi_{n_k}) \ge \epsilon,$$
  
$$d(\omega_{m_k}, \xi_{n_k-1}) < \epsilon.$$
 (9)

256

By view of (8) and triangle inequality, we get

$$\begin{aligned} \epsilon &\leq d\left(\omega_{n_k}, \xi_{m_k}\right) \\ &\leq d\left(\omega_{n_k}, \xi_{n_k-1}\right) + d\left(\omega_{n_k-1}, \xi_{n_k-1}\right) + d\left(\omega_{n_k-1}, \xi_{m_k}\right) \\ &< d\left(\omega_{n_k}, \xi_{n_k-1}\right) + d\left(\omega_{n_k-1}, \xi_{n_k-1}\right) + \epsilon. \end{aligned}$$

Letting  $k \to \infty$  and using (7),

$$\lim_{k \to \infty} d\left(\omega_{n_k}, \xi_{m_k}\right) = \epsilon. \tag{10}$$

Again, by means of triangle inequality, we have

$$d(\omega_{n_k}, \xi_{m_k}) \leq d(\omega_{n_k}, \omega_{n_k+1}) + d(\xi_{m_k+1}, \omega_{n_k+1}) + d(\xi_{m_k+1}, \xi_{m_k}),$$

and

$$d(\xi_{m_{k}+1}, \omega_{n_{k}+1}) \leq d(\xi_{m_{k}+1}, \xi_{m_{k}}) + d(\omega_{n_{k}}, \xi_{m_{k}}) + d(\omega_{n_{k}}, \omega_{n_{k}+1}).$$

Taking  $k \to \infty$  and using (7) and (10),

$$\lim_{k \to \infty} d\left(\omega_{n_k+1}, \xi_{m_k+1}\right) = \lim_{k \to \infty} d\left(\xi_{m_k+1}, \omega_{n_k+1}\right) = \epsilon.$$
(11)

Similarly, using (9), we can prove

$$\lim_{k \to \infty} d(\omega_{m_k}, \xi_{n_k}) = \epsilon, \qquad \lim_{k \to \infty} d(\omega_{m_k+1}, \xi_{n_k+1}) = \epsilon.$$
(12)

Since  $\lambda(\omega_{n_k})\lambda(\omega_{m_k}) \ge 1$  for all  $k \in N$ , by (v), we get

$$\chi\left(d\left(\omega_{n_{k}+1},\xi_{m_{k}+1}\right)\right) \leqslant \chi\left(d\left(\omega_{n_{k}},\xi_{m_{k}}\right)\right) - \zeta\left(d\left(\omega_{n_{k}},\xi_{m_{k}}\right)\right),\tag{13}$$

and

$$\chi\left(d\left(\omega_{m_{k}+1},\xi_{n_{k}+1}\right)\right) \leqslant \chi\left(d\left(\omega_{m_{k}},\xi_{n_{k}}\right)\right) - \zeta\left(d\left(\omega_{m_{k}},\xi_{n_{k}}\right)\right).$$
(14)

Taking the limsup on (13), (14) and applying (10), (11) and (12), we have  $\chi(\epsilon) \leq \chi(\epsilon) - \zeta(\epsilon)$ . That is,  $\epsilon = 0$ , which is a contradiction. Hence  $(\{\omega_n\}, \{\xi_n\})$  is a Cauchy bisequence in  $(\mathcal{P}, \mathcal{Q})$ . Therefore,

$$\lim_{n,m\to\infty} \left(\omega_n,\xi_m\right) = 0.$$

Since  $(\mathcal{P}, \mathcal{Q}, d)$  is complete,  $(\omega_n, \xi_n)$  converges. So it biconverges to some  $\kappa \in \mathcal{P} \cap \mathcal{Q}$  so that

$$\lim_{n \to \infty} \omega_{n+1} = \kappa = \lim_{n \to \infty} \xi_{n+1}.$$
 (15)

That is,

$$\lim_{n \to \infty} Sp_{n+1} = \lim_{n \to \infty} Tp_{n+2} = \lim_{n \to \infty} Sq_{n+1} = \lim_{n \to \infty} Tq_{n+2} = \kappa.$$

The continuity of T leads to

$$\lim_{n \to \infty} T^2 p_{n+2} = T\kappa, \ \lim_{n \to \infty} TS p_{n+1} = T\kappa, \ \lim_{n \to \infty} T^2 q_{n+2} = T\kappa, \ \lim_{n \to \infty} TS q_{n+1} = T\kappa$$

The compatibility of  $\{S, T\}$  implies that

$$\lim_{n \to \infty} d(STp_{n+2}, TSq_{n+1}) = \lim_{n \to \infty} d(TSp_{n+1}, STq_{n+2}) = 0.$$

So that  $\lim_{n\to\infty} TSq_{n+1} = \lim_{n\to\infty} STp_{n+2} = T\kappa$ ,  $\lim_{n\to\infty} STq_{n+2} = \lim_{n\to\infty} TSp_{n+1} = T\kappa$ . Choosing  $p = Tp_{2n+2}$  and  $q = q_{2n+1}$  in (v) and assuming that *(iii)* holds, that is,  $\lambda(Tp_{n+2})\lambda(\kappa) \ge 1$ , we have

$$\chi\left(d(STp_{n+2}, Sp_{n+1})\right) \leqslant \chi\left(d(TTp_{n+2}, Tq_{n+1})\right) - \zeta\left(d(TTp_{n+2}, Tq_{n+1})\right).$$

At the limit,

$$\chi\left(d(T\kappa,\kappa)\right) \leqslant \chi\left(d(T\kappa,\kappa)\right) - \zeta\left(d(T\kappa,\kappa)\right).$$

Hence,  $\zeta (d(T\kappa, \kappa)) = 0$  and so  $T\kappa = \kappa$ . By using conditions (v) and (iii), we deduce

$$\chi \left( d \left( S \kappa, \xi_{n+1} \right) \right) = \chi \left( d \left( S \kappa, S q_{n+1} \right) \right)$$
  
$$\leq \chi \left( d \left( T \kappa, T q_{n+1} \right) \right) - \zeta \left( d \left( T \kappa, T q_{n+1} \right) \right).$$

At the limit,

$$\chi\left(d(S\kappa,\kappa)\right) \leqslant \chi\left(d(T\kappa,\kappa)\right) - \zeta\left(d(T\kappa,\kappa)\right) \leqslant \chi\left(d(T\kappa,\kappa)\right).$$

Thus,  $d(S\kappa,\kappa) \leq d(T\kappa,\kappa) = 0$ . That is,  $d(S\kappa,\kappa) = 0$  implies  $S\kappa = \kappa$ . Hence  $S\kappa = T\kappa = \kappa$ .

Now, let  $\nu$  be so that  $S\nu = T\nu = \nu$ . Then  $\nu \in \mathcal{P} \cap \mathcal{Q}$ . Since  $\lambda(\kappa)\lambda(\nu) \ge 1$ , by  $(\nu)$ , one has

$$\begin{split} \chi\left(d(\kappa,\nu)\right) &= \chi\left(d(S\kappa,S\nu)\right) \\ &\leqslant \chi\left(d(T\kappa,T\nu)\right) - \zeta\left(d(T\kappa,T\nu)\right) \\ &\leqslant \chi\left(d(\kappa,\nu)\right) - \zeta\left(d(\kappa,\nu)\right). \end{split}$$

Hence,  $\zeta(d(\kappa,\nu)) = 0$ , and so  $\kappa = \nu$ . That is, we get uniqueness.

**Corollary 2.3** Let  $S : (\mathcal{P}, \mathcal{Q}) \rightrightarrows (\mathcal{P}, \mathcal{Q})$  be an  $\lambda$ -admissible mapping on a complete bipolar metric space  $(\mathcal{P}, \mathcal{Q}, d)$ . Suppose that the following assertions hold:

- (i) there exists  $p_0 \in \mathcal{P} \cup \mathcal{Q}$  so that  $\lambda(p_0) \ge 1$ ;
- (ii) either S is continuous, or;
- (*iii*) if  $(\{p_n\}, \{q_n\})$  is a bisequence in  $(\mathcal{P}, \mathcal{Q})$  so that  $(p_n, q_n) \to (\kappa, \kappa)$  and  $\lambda(p_n) \ge 1$ ,  $\lambda(q_n) \ge 1$  for all n, then  $\lambda(\kappa) \ge 1$ ;
- (iv)  $\lambda(p)\lambda(q) \ge 1 \Rightarrow \chi(d(Sp, Sq)) \le \chi(d(p, q)) \zeta(d(p, q))$  for all  $p \in \mathcal{P}, q \in \mathcal{Q}$  where  $\chi \in \Omega$  and  $\zeta \in \Upsilon$ .

Then  $S : \mathcal{P} \cup \mathcal{Q} \to \mathcal{P} \cup \mathcal{Q}$  has a fixed point. Moreover, if  $\lambda(p) \ge 1$  and  $\lambda(q) \ge 1$  for all  $p, q \in \mathcal{P} \cup \mathcal{Q}$  are fixed points of S, then S has a unique fixed point.

**Proof.** Let us take  $T = I_{\mathcal{P} \cup \mathcal{Q}}$  (identity mapping on  $\mathcal{P} \cup \mathcal{Q}$ ), from Theorem 2.2, S has a unique fixed point.

**Example 2.4** Let  $U_m(\mathbb{R})$  (resp.  $L_m(\mathbb{R})$ ) be the set of all  $m \times m$  real upper (resp. lower) triangular matrices. Define  $d: U_m(\mathbb{R}) \times L_m(\mathbb{R}) \to [0, \infty)$  as  $d(A, B) = \sum_{i,j=1}^m |a_{ij} - b_{ij}|$ 

for all  $A = (a_{ij}) \in U_m(\mathbb{R})$  and  $B = (b_{ij}) \in L_m(\mathbb{R})$ . Then obviously  $(U_m(\mathbb{R}), L_m(\mathbb{R}), d)$ is a complete bipolar metric space. Define  $S, T : U_m(\mathbb{R}) \cup L_m(\mathbb{R}) \to U_m(\mathbb{R}) \cup L_m(\mathbb{R})$ as  $S(A) = \frac{1}{4}(a_{ij})$  and  $T(A) = \frac{1}{2}(a_{ij})$  for all  $A = (a_{ij}) \in U_m(\mathbb{R}) \cup L_m(\mathbb{R})$ . Given  $\lambda : U_m(\mathbb{R}) \cup L_m(\mathbb{R}) \to [0, \infty)$  as

$$\lambda(A) = \begin{cases} \sum_{i,j=1}^{m} |a_{ij}| = 1, & \text{if } A = (a_{ij}) \in U_m(\mathbb{R}) \cup L_m(\mathbb{R}), \\ 0, & \text{otherwise.} \end{cases}$$

Choose  $\chi(t) = t$  and  $\zeta(t) = \frac{t}{3}$ .

Here, obviously  $S(U_m(\mathbb{R}) \cup L_m(\mathbb{R})) = T(U_m(\mathbb{R}) \cup L_m(\mathbb{R})) = O_{m \times m}$ . Furthermore, we prove  $\{S, T\}$  is compatible. Let  $(A_n, B_n)$  be a bisequence in  $(\mathcal{P}, \mathcal{Q})$  so that for some  $\kappa = (\kappa_{ij}) \in \mathcal{P} \cap \mathcal{Q}$ ,  $\lim_{n \to \infty} d(TA_n, \kappa) = 0$ ,  $\lim_{n \to \infty} d(\kappa, TB_n) = 0$  and  $\lim_{n \to \infty} d(SA_n, \kappa) = 0$  and  $\lim_{n \to \infty} d(\kappa, SB_n) = 0$ . Since T and S are continuous, we have

$$\lim_{n \to \infty} d(TSA_n, STB_n) = d(\lim_{n \to \infty} TSA_n, \lim_{n \to \infty} STB_n) = d(T\kappa, S\kappa)$$
$$= d(\frac{1}{2}(\kappa_{ij}), \frac{1}{4}(\kappa_{ij}))$$
$$= \sum_{i,j=1}^m |\frac{1}{2}\kappa_{ij} - \frac{1}{4}\kappa_{ij}| = \sum_{i,j=1}^m \frac{1}{4}|\kappa_{ij}|.$$

But  $\sum_{i,j=1}^{m} \frac{1}{4} |\kappa_{ij}| = 0 \Leftrightarrow \kappa_{ij} = 0$ . Similarly,  $\lim_{n \to \infty} d(STA_n, TSB_n) = 0$ . That is,  $\{S, T\}$  is compatible.

Let  $\lambda(A) \ge 1$ , then  $A = (a_{ij}) \in U_m(\mathbb{R}) \cup L_m(\mathbb{R})$ . Also,  $S(A) \in U_m(\mathbb{R}) \cup L_m(\mathbb{R})$ . Therefore,  $\lambda(S(A)) \ge 1$ . Then S is  $\lambda$ -admissible (and the same for T). Now, let  $(A_n, B_n)$  be in  $(\mathcal{P}, \mathcal{Q})$ so that  $\lambda(A_n) \ge 1$  and  $\lambda(B_n) \ge 1$  and  $(A_n, B_n) \to (\kappa, \kappa)$  as  $n \to \infty$ . Therefore,  $\kappa \in \mathcal{P} \cap \mathcal{Q}$ , i.e.,  $\lambda(\kappa) \ge 1$ .

Let  $\lambda(A)\lambda(B) \ge 1$ , then  $A = (a_{ij}) \in U_m(\mathbb{R})$  and  $B = (b_{ij}) \in L_m(\mathbb{R})$  and so

$$\begin{split} \chi \left( d(SA, SB) \right) &= d(SA, SB) = \frac{1}{4} \sum_{i,j=1}^{m} |a_{ij} - b_{ij}| \\ &\leqslant \frac{1}{3} \sum_{i,j=1}^{m} |a_{ij} - b_{ij}| \\ &\leqslant \frac{1}{2} \sum_{i,j=1}^{m} |a_{ij} - b_{ij}| - \frac{1}{6} \sum_{i,j=1}^{m} |a_{ij} - b_{ij}| \\ &\leqslant \chi \left( d(TA, TB) \right) - \zeta \left( d(TA, TB) \right). \end{split}$$

Thus, all conditions of Theorem 2.2 hold, and  $O_{m \times m}$  is the unique common fixed point of S and T.

**Theorem 2.5** Let  $S, T : (\mathcal{P}, \mathcal{Q}) \rightrightarrows (\mathcal{P}, \mathcal{Q})$  be  $\lambda$ -admissible mappings on a complete bipolar metric space  $(\mathcal{P}, \mathcal{Q}, d)$  so that  $S(\mathcal{P} \cup \mathcal{Q}) \subseteq T(\mathcal{P} \cup \mathcal{Q})$ . Suppose that the following assertions hold:

- (i) there exists  $p_0 \in \mathcal{P} \cup \mathcal{Q}$  such that  $\lambda(p_0) \ge 1$ ;
- (ii) either T is continuous, or;
- (*iii*) if  $(\{p_n\}, \{q_n\})$  is a bisequence in  $(\mathcal{P}, \mathcal{Q})$  such that  $(p_n, q_n) \to (\kappa, \kappa)$  and  $\lambda(p_n) \ge 1$ ,  $\lambda(q_n) \ge 1$  for all n, then  $\lambda(\kappa) \ge 1$ ;
- (iv) the pair  $\{S, T\}$  is compatible;
- (v)  $\lambda(p)\lambda(q)\chi(d(Sa,Sb)) \leq \chi(d(Ta,Tb)) \zeta(d(Ta,Tb))$  for all  $p \in \mathcal{P}, q \in \mathcal{Q}$  where  $\chi \in \Omega$  and  $\zeta \in \Upsilon$ .

Then  $S, T : \mathcal{P} \cup \mathcal{Q} \to \mathcal{P} \cup \mathcal{Q}$  have a common fixed point. Moreover, if  $\lambda(p) \ge 1$  and  $\lambda(q) \ge 1$  for all  $p, q \in \mathcal{P} \cup \mathcal{Q}$  are fixed points of S and T, then S and T have a unique common fixed point.

**Proof.** Let  $\lambda(p)\lambda(q) \ge 1$  for  $p \in \mathcal{P}, q \in \mathcal{Q}$ . Then by (v), we get

$$\chi\left(d(Sp, Sq)\right) \leqslant \chi\left(d(Tp, Tq)\right) - \zeta\left(d(Tp, Tq)\right).$$

Thus, the condition (v) of Theorem 2.2 holds. From Theorem 2.2, we get the proof.

**Corollary 2.6** Let  $S : (\mathcal{P}, \mathcal{Q}) \rightrightarrows (\mathcal{P}, \mathcal{Q})$  be an  $\lambda$ -admissible mapping on a complete bipolar metric space  $(\mathcal{P}, \mathcal{Q}, d)$ . Suppose that the following assertions hold:

- (i) there exists  $p_0 \in \mathcal{P} \cup \mathcal{Q}$  such that  $\lambda(p_0) \ge 1$ ;
- (ii) either S is continuous; or
- (*iii*) if  $(\{p_n\}, \{q_n\})$  is a bisequence in  $(\mathcal{P}, \mathcal{Q})$  so that  $(p_n, q_n) \to (\kappa, \kappa)$  and  $\lambda(p_n) \ge 1$ ,  $\lambda(q_n) \ge 1$  for all n, then  $\lambda(\kappa) \ge 1$ ,
- (iv)  $\lambda(p)\lambda(q)\chi(d(Sp,Sq)) \leq \chi(d(p,q)) \zeta(d(p,q))$  for all  $p \in \mathcal{P}, q \in \mathcal{Q}$  where  $\chi \in \Omega$ and  $\zeta \in \Upsilon$ .

Then  $S: \mathcal{P} \cup \mathcal{Q} \to \mathcal{P} \cup \mathcal{Q}$  has a fixed point. Moreover, if  $\lambda(p) \ge 1$  and  $\lambda(q) \ge 1$  for all  $p, q \in \mathcal{P} \cup \mathcal{Q}$  are fixed points of S, then such fixed point is unique.

**Theorem 2.7** Let  $S, T : (\mathcal{P}, \mathcal{Q}) \Rightarrow (\mathcal{P}, \mathcal{Q})$  be  $\lambda$ -admissible mappings on a complete bipolar metric space  $(\mathcal{P}, \mathcal{Q}, d)$  so that  $S(\mathcal{P} \cup \mathcal{Q}) \subseteq T(\mathcal{P} \cup \mathcal{Q})$ . Suppose that the following assertions hold:

- (i) there exists  $p_0 \in \mathcal{P} \cup \mathcal{Q}$  such that  $\lambda(p_0) \ge 1$ ;
- (ii) either T is continuous, or;
- (*iii*) if  $(\{p_n\}, \{q_n\})$  is a bisequence in  $(\mathcal{P}, \mathcal{Q})$  so that  $(p_n, q_n) \to (\kappa, \kappa)$  and  $\lambda(p_n) \ge 1$ ,  $\lambda(q_n) \ge 1$  for all n, then  $\lambda(\kappa) \ge 1$ ;
- (iv) the pair  $\{S, T\}$  is compatible;
- (v)  $(\lambda(p)\lambda(q)+1)^{\chi(d(Sp,Sq))} \leq 2^{\chi(d(Tp,Tq))-\zeta(d(Tp,Tq))}$  for all  $p \in \mathcal{P}, q \in \mathcal{Q}$ , where  $\chi \in \Omega$  and  $\zeta \in \Upsilon$ .

Then S, T have a common fixed point. Moreover, if  $\lambda(p) \ge 1$  and  $\lambda(q) \ge 1$  for all  $p, q \in \mathcal{P} \cup \mathcal{Q}$  are common fixed points of S and T, then such common fixed point is unique.

**Example 2.8** Let  $\mathcal{P} = (1, +\infty)$  and  $\mathcal{Q} = [-1, 1]$ . Define  $d : \mathcal{P} \times \mathcal{Q} \to [0, +\infty)$  as  $d(p,q) = |p^2 - q^2|$  for all  $(p,q) \in (\mathcal{P}, \mathcal{Q})$ . Then the triple  $(\mathcal{P}, \mathcal{Q}, d)$  is a complete bipolar metric space. Consider

 $S, T: \mathcal{P} \cup \mathcal{Q} \to \mathcal{P} \cup \mathcal{Q}$  as  $S(p) = \frac{1}{3}p$  and T(p) = p for all  $p \in (-1, 1]$ . Given  $\lambda: \mathcal{P} \cup \mathcal{Q} \to \mathcal{Q}$ 

 $[0, +\infty)$  as

$$\lambda(p) = \begin{cases} 1, & \text{if } p \in [0, 1], \\ 0, & \text{otherwise.} \end{cases}$$

Take  $\chi(t) = t$  and  $\zeta(t) = \frac{t}{2}$ . For all  $p \in (-1, 1]$  and  $q \in [0, 1]$ , we have

$$\begin{aligned} (\lambda(p)\lambda(q)+1)^{\chi(d(Sp,Sq))} &= 2^{\left|\frac{1}{9}p^2 - \frac{1}{9}q^2\right|} \\ &= 2^{\frac{1}{9}|p^2 - q^2|} \leqslant 2^{\frac{1}{2}|p^2 - q^2|} \\ &\leqslant 2^{|p^2 - q^2| - \frac{1}{2}|p^2 - q^2|} \\ &= 2^{\chi(d(Tp,Tq)) - \zeta(d(Tp,Tq))} \end{aligned}$$

Otherwise,  $\lambda(p)\lambda(q) = 0$  and so

$$(\lambda(p)\lambda(q)+1)^{\chi(d(Sp,Sq))} = 1 \leq 2^{\chi(d(Tp,Tq))-\zeta(d(Tp,Tq))}.$$

All conditions of Theorem 2.7 hold, and 0 is the unique common fixed point of S and T.

## 3. Application to Homotopy

In this section, we study the existence of a unique solution to homotopy theory.

**Theorem 3.1** Let  $(\mathcal{P}, \mathcal{Q}, d)$  be a complete bipolar metric space, (A, B) be an open subset of  $(\mathcal{P}, \mathcal{Q})$  so that  $(\overline{A}, \overline{B})$  is a closed subset of  $(\mathcal{P}, \mathcal{Q})$  and  $(A, B) \subseteq (\overline{A}, \overline{B})$ . Suppose  $L : (\overline{A} \cup \overline{B}) \times [0, 1] \to \mathcal{P} \cup \mathcal{Q}$  is  $\lambda$ -admissible so that

- (i)  $\sigma \neq L(\sigma, \rho)$  for each  $\sigma \in \partial A \cup \partial B$  and  $\rho \in [0, 1]$  and  $\lambda(\sigma) \ge 1$ . Here,  $(\partial A \cup \partial B$  is the boundary of  $A \cup B$  in  $\mathcal{P} \cup \mathcal{Q}$ )
- (*ii*)  $\lambda(\sigma)\lambda(\varsigma) \ge 1 \Rightarrow \chi(d(H(\sigma,\kappa), L(\varsigma,\kappa))) \le \chi(d(\sigma,\varsigma)) \zeta(d(\sigma,\varsigma))$  for all  $\sigma \in \overline{A}$ ,  $\varsigma \in \overline{B}$ , where  $\rho \in [0,1], \lambda : \overline{A} \cup \overline{B} \to [0,\infty)$  where  $\chi \in \Omega$  and  $\zeta \in \Upsilon$ .
- (*iii*) there is M > 0,  $d(L(\sigma, \chi), L(y, \zeta)) \leq M|\chi \zeta|$  for all  $\sigma \in \overline{U}$  and  $\varsigma \in \overline{B}$  and  $\chi, \zeta \in [0, 1]$ ,
- (*iv*) if  $(\{x_n\}, \{y_n\})$  is in  $(\overline{A}, \overline{B})$  so that  $(x_n, y_n) \to (\xi, \xi)$  and  $\lambda(x_n) \ge 1, \lambda(y_n) \ge 1$  for all n, then  $\lambda(\xi) \ge 1$ .

Then H(.,0) has a fixed point  $\iff H(.,1)$  has a fixed point.

# **Proof.** Take

$$X = \{ \chi \in [0,1] : \sigma = L(\sigma,\chi), \ \sigma \in A \},\$$
  
$$Y = \{ \zeta \in [0,1] : \varsigma = H(\varsigma,\zeta), \ \varsigma \in B \}.$$

Since L(.,0) has a fixed point in  $A \cup B$ , we have  $0 \in X \cap Y$ . So that  $X \cap Y$  is nonempty set. We claim that  $X \cap Y$  is both closed and open in [0, 1]. The connectedness yields that X = Y = [0, 1]. Let  $(\{\chi_n\}_{n=1}^{\infty}, \{\zeta_n\}_{n=1}^{\infty}) \subseteq (X, Y)$  with  $(\chi_n, \zeta_n) \to (\vartheta, \vartheta) \in [0, 1]$  as  $n \to \infty$ . We claim that  $\vartheta \in X \cap Y$ .

Since  $(\chi_n, \zeta_n) \in (X, Y)$  for  $n = 0, 1, 2, 3, \cdots$ , there is a bisequence  $(x_n, y_n)$  with  $x_{n+1} = L(x_n, \chi_n), y_{n+1} = L(y_n, \zeta_n)$ . Since H is  $\lambda$ -admissible and  $\lambda(x_0) \ge 1$ , we get  $\lambda(L(x_0, \chi_0)) \ge 1$  and  $\lambda(y_0) \ge 1$ . Hence  $\lambda(L(y_0, \zeta_0)) \ge 1$ . Continuing in same direction,  $\lambda(x_{n+1}) \ge 1$  and

 $\lambda(y_{n+1}) \ge 1$  for  $n \ge 0$ . That is,  $\lambda(x_n) \ge 1$  and  $\lambda(y_n) \ge 1$  for all  $n \ge 0$ . Namely,  $\lambda(x_{n+1})\lambda(y_n) \ge 1$ ,  $\lambda(x_n)\lambda(y_{n+1}) \ge 1$  and  $\lambda(x_{n+1})\lambda(y_{n+1}) \ge 1$ . Therefore, by (*ii*), we have

$$\chi(d(x_n, y_{n+1})) = \chi(d(L(x_{n-1}, \chi_{n-1}), L(y_n, \zeta_n)))$$
  

$$\leq \chi(d(x_{n-1}, y_n)) - \zeta(d(x_{n-1}, y_n))$$
  

$$\leq \chi(d(x_{n-1}, y_n)).$$
(16)

Since  $\chi$  is increasing, we get

$$d(x_n, y_{n+1}) \leq d(x_{n-1}, y_n).$$
 (17)

Also, we have

$$\chi(d(x_n, y_n)) = \chi(d(L(x_{n-1}, \chi_{n-1}), L(y_{n-1}, \zeta_{n-1})))$$
  

$$\leq \chi(d(x_{n-1}, y_{n-1})) - \zeta(d(x_{n-1}, y_{n-1}))$$
  

$$< \chi(d(x_{n-1}, y_{n-1})).$$
(18)

Similarly,

$$d(x_n, y_n) \leqslant d(x_{n-1}, y_{n-1}).$$
 (19)

The inequalities (17) and (19) yield that the bisequence  $\{d_n := (d(x_n, y_n)\}$  is nonincreasing, so it converges to  $\vartheta_1 \ge 0$ . Assume that  $\vartheta_1 > 0$ . Taking  $n \to \infty$  in equations (16) and (18), we get a contradiction. Therefore,

$$\lim_{n \to \infty} d(x_n, y_n) = 0.$$
<sup>(20)</sup>

We will prove  $(\{x_n\}, \{y_n\})$  is a Cauchy bisequence. Assume there are  $\epsilon > 0$  and  $\{m_k\}$ ,  $\{n_k\}$  so that for  $n_k > m_k > k$ ,

$$d(x_{n_k}, y_{m_k}) \ge \epsilon,$$
  
$$d(x_{n_k-1}, y_{m_k}) < \epsilon,$$
(21)

and

$$d(x_{m_k}, y_{n_k}) \ge \epsilon,$$
  
$$d(x_{m_k}, y_{n_k-1}) < \epsilon.$$
 (22)

By view of (21) and triangle inequality, we get

$$\begin{aligned} \epsilon &\leq d\left(x_{n_{k}}, y_{m_{k}}\right) \\ &\leq d\left(x_{n_{k}}, y_{n_{k}-1}\right) + d\left(x_{n_{k}-1}, y_{n_{k}-1}\right) + d\left(x_{n_{k}-1}, y_{m_{k}}\right) \\ &\leq d\left(x_{n_{k}}, y_{n_{k}-1}\right) + d\left(L(x_{n_{k}-2}, \chi_{n_{k}-2}), L(y_{n_{k}-2}, \zeta_{n_{k}-2})\right) + \epsilon \\ &\leq d\left(x_{n_{k}}, y_{n_{k}-1}\right) + M|\chi_{n_{k}-2} - \zeta_{n_{k}-2}| + \epsilon. \end{aligned}$$

Letting  $k \to \infty$  and using (20), we obtain

$$\lim_{k \to \infty} d\left(x_{n_k}, y_{m_k}\right) = \epsilon.$$
(23)

Using (22), one can prove

$$\lim_{k \to \infty} d\left(x_{m_k}, y_{n_k}\right) = \epsilon.$$
(24)

Since  $\lambda(x_{n_k})\lambda(y_{m_k}) \ge 1$  for all  $k \in N$ , by (*ii*), we get

$$\chi \left( d \left( x_{n_k+1}, y_{m_k+1} \right) \right) \leqslant \chi \left( d \left( x_{n_k}, y_{m_k} \right) \right) - \zeta \left( d \left( x_{n_k}, y_{m_k} \right) \right), \tag{25}$$

and

$$\chi(d(x_{m_k+1}, y_{n_k+1})) \leq \chi(d(x_{m_k}, y_{n_k})) - \zeta(d(x_{m_k}, y_{n_k})).$$
(26)

Applying (23) and (24), we get at the limit,  $\chi(\epsilon) \leq \chi(\epsilon) - \zeta(\epsilon)$ . That is,  $\epsilon = 0$ , which is a contradiction. Hence  $(\{x_n\}, \{y_n\})$  is a Cauchy bisequence in (A, B). By completeness, there is  $\gamma \in A \cap B$  with

$$\lim_{n \to \infty} x_n = \gamma = \lim_{n \to \infty} y_n. \tag{27}$$

Now, consider

$$\chi \left( d(L(\gamma, \chi), y_{n+1}) \right) = \chi \left( d(L(\gamma, \chi), L(y_n, \zeta_n)) \right)$$
  
$$\leq \chi \left( d(\gamma, y_n) \right) - \zeta \left( d(\gamma, y_n) \right)$$
  
$$\leq \chi \left( d(\gamma, y_n) \right).$$

Since  $\chi$  is increasing, we get  $d(L(\gamma, \chi), y_{n+1}) \leq d(\gamma, y_n)$ . By taking the limsup on both sides, we get  $d(L(\gamma, \chi), \gamma) = 0$ , which implies  $L(\gamma, \chi) = \gamma$ . Similarly,  $L(\gamma, \zeta) = \gamma$ . Therefore,  $\chi = \zeta \in X \cap Y$ . Clearly,  $X \cap Y$  is a closed in [0, 1]. Let  $(\chi_0, \zeta_0) \in (X, Y)$ . Then there is a bisequence  $(x_0, y_0)$  so that  $x_0 = L(x_0, \chi_0)$ ,  $y_0 = L(y_0, \zeta_0)$ . Since  $A \cup B$  is open, there is r > 0 so that  $B_d(x_0, r) \subseteq U \cup V$ and  $B_d(r, y_0) \subseteq A \cup B$ . Choose  $\chi \in (\zeta_0 - \epsilon, \zeta_0 + \epsilon)$  and  $\zeta \in (\chi_0 - \epsilon, \chi_0 + \epsilon)$  so that  $|\chi - \zeta_0| \leq \frac{1}{M^n} < \frac{\epsilon}{2}$ ,  $|\zeta - \chi_0| \leq \frac{1}{M^n} < \frac{\epsilon}{2}$  and  $|\chi_0 - \zeta_0| \leq \frac{1}{M^n} < \frac{\epsilon}{2}$ . Then for  $y \in \overline{B_{X \cup Y}(x_0, r)} = \{y, y_0 \in B \mid d(x_0, y) \leq r + d(x_0, y_0)\}$  and  $x \in \overline{B_{X \cup Y}(y_0, r)} = \{x, x_0 \in A \mid d(x, y_0) \leq r + d(x_0, y_0)\}$ . Also,

$$\begin{aligned} d(L(x,\chi),y_0) &= d(L(x,\chi),L(y_0,\zeta_0)) \\ &\leqslant d(L(x,\chi),L(y,\zeta_0)) + d(L(x_0,\chi),L(y,\zeta_0)) \\ &+ d(L(x_0,\chi),L(y_0,\zeta_0)) \\ &\leqslant 2M|\chi - \zeta_0| + d(L(x_0,\chi),L(y,\zeta_0)) \\ &< \frac{2}{M^{n-1}} + d(L(x_0,\chi),L(y,\zeta_0)). \end{aligned}$$

Letting  $n \to \infty$ , we get  $d(L(x, \chi), y_0) \leq d(L(x_0, \chi), L(y, \zeta_0))$ . By (ii), we have

$$\chi \left( d(L(x,\chi),y_0) \right) \leqslant \chi \left( d(L(x_0,\chi),L(y,\zeta_0)) \right) \\ \leqslant \chi \left( d(x_0,y) \right) - \zeta \left( d(x_0,y) \right) \\ \leqslant \chi \left( d(x_0,y) \right).$$

263

Since  $\chi$  is increasing, we have  $d(L(x,\chi), y_0) \leq d(x_0, y) \leq r + d(x_0, y_0)$ . Similarly,  $d(x_0, L(y,\zeta)) \leq d(x, y_0) \leq r + d(x_0, y_0)$ . On the other hand,

$$d(x_0, y_0) = d(L(x_0, \chi_0), L(y_0, \zeta_0)) \leq M |\chi_0 - \zeta_0| \leq \frac{1}{M^{n-1}} \to 0 \text{ as } n \to \infty.$$

So  $x_0 = y_0$ . Thus, for each fixed  $\zeta = \chi \in (\zeta_0 - \epsilon, \zeta_0 + \epsilon)$  and  $L(., \chi) : \overline{B_{X \cup Y}(x_0, r)} \to \overline{B_{X \cup Y}(x_0, r)}$ . Hence  $L(., \chi)$  has a fixed point in  $\overline{A \cup B}$ . But this must be in  $A \cup B$ . Therefore,  $L(., \chi)$  have a fixed point in  $\overline{A \cap B}$ , which must be in  $A \cap B$ . Then  $\chi = \zeta \in X \cap Y$  for  $\zeta \in (\zeta_0 - \epsilon, \zeta_0 + \epsilon)$ . Hence  $(\zeta_0 - \epsilon, \zeta_0 + \epsilon) \subseteq X \cap Y$ . Clearly,  $X \cap Y$  is open in [0, 1]. The proof of the reverse could be done similarly.

### 4. Application to Integral Equations

We will apply Corollary 2.6 to resolve the integral equation

$$\gamma(x) = f(x) + \int_{E_1 \cup E_2} S(x, y) P(y, \gamma(y)) dy, \quad x \in E_1 \cup E_2,$$
(28)

where  $E_1 \cup E_2$  is a Lebesgue measurable set.

Let  $\mathcal{P} = L^{\infty}(E_1)$  and  $\mathcal{Q} = L^{\infty}(E_2)$  be two normed linear spaces, where  $E_1, E_2$  are Lebesgue measurable sets with  $m(E_1 \cup E_2) < \infty$ .

Define  $d : \mathcal{P} \times \mathcal{Q} \to [0, +\infty)$  as  $d(f, g) = ||f - g||_{\infty}$  for all  $(f, g) \in \mathcal{P} \times \mathcal{Q}$ . Note that  $(\mathcal{P}, \mathcal{Q}, d)$  is a complete bipolar metric space.

Define  $T: L^{\infty}(E_1) \cup L^{\infty}(E_2) \to L^{\infty}(E_1) \cup L^{\infty}(E_2)$  by

$$T\gamma(x) = f(x) + \int_{E_1 \cup E_2} S(x, y) P(y, \gamma(y)) dy, \quad x \in E_1 \cup E_2.$$

Then T is a covariant mapping.

#### Theorem 4.1 Assume that

- (i)  $S: (E_1^2 \cup E_2^2) \to [0, +\infty), P: (E_1 \cup E_2) \times [0, +\infty) \to [0, +\infty)$  and  $f: (E_1 \cup E_2) \to [0, +\infty);$
- (*ii*) there are continuous functions  $\theta, \tau : \mathcal{P} \cup \mathcal{Q} \to [0, +\infty)$  so that if  $\theta(\gamma)\theta(\beta) \ge 0$  for some  $\gamma \in \mathcal{P}, \ \beta \in \mathcal{Q}$ , then for each  $y \in E_1 \cup E_2$ ,

$$|P(y,\gamma(y)) - P(y,\beta(y))| \leq |\tau(\beta)||\gamma(y) - \beta(y)|;$$

(iii)

$$\left\|\int\limits_{E_1\cup E_2}S(x,y)|\tau(\beta)|dy\right\|_{\infty}<1;$$

(iv)  $\theta(\gamma) \ge 0$  for some  $\gamma \in \mathcal{P} \cup \mathcal{Q}$  implies  $\theta(T\gamma) \ge 0$ ;

(v) if  $(\{\gamma_n\}, \{\beta_n\})$  is a bisequence in  $(\mathcal{P}, \mathcal{Q})$  such that  $\theta(\gamma_n) \ge 0, \theta(\beta_n) \ge 0$  for all  $n \ge 0$  and  $(\gamma_n, \beta_n) \to (\kappa, \kappa)$  as  $n \to \infty$ , then  $\theta(\kappa) \ge 0$ .

Then the integral equation (28) has a solution in  $L^{\infty}(E_1) \cup L^{\infty}(E_2)$ .

**Proof.** Let  $\gamma \in \mathcal{P}$ ,  $\beta \in \mathcal{Q}$  be such that  $\theta(\gamma)\theta(\beta) \ge 0$ . By (*ii*), we deduce that

$$|T\gamma(x) - T\beta(x)| = \left| \int_{E_1 \cup E_2} S(x, y) \left[ P(y, \gamma(y)) - P(y, \beta(y)) \right] dy \right|$$

$$\leqslant \int\limits_{E_1 \cup E_2} S(x,y) |P(y,\gamma(y)) - P(y,\beta(y))| dy$$

$$\leqslant \int\limits_{E_1\cup E_2} S(x,y) |\tau(\beta(y))| |\gamma(y) - \beta(y)| dy$$

$$\leqslant \int_{E_1 \cup E_2} S(x, y) |\tau(\beta(y))| ||\gamma - \beta||_{\infty} dy$$

$$\leqslant ||\gamma - \beta||_{\infty} \left( \int\limits_{E_1 \cup E_2} S(x,y) |\tau(\beta(y))| dy \right).$$

Then,

$$||T\gamma - T\beta||_{\infty} \leq \left\| \int_{E_1 \cup E_2} S(x, y) |\tau(\beta)| dy \right\|_{\infty} ||\gamma - \beta||_{\infty}.$$

Choose  $\chi(t) = t$  and

$$\zeta(t) = \left(1 - \left\| \int_{E_1 \cup E_2} S(x, y) |\tau(\beta)| dy \right\|_{\infty} \right) t.$$

Define  $\lambda : \mathcal{P} \cup \mathcal{Q} \to [0, +\infty)$  by

$$\lambda(t) = \begin{cases} 1, \, \theta(t) \ge 0, \\ 0, \, \text{otherwise.} \end{cases}$$

Consequently, for all  $\gamma \in \mathcal{P}, \beta \in \mathcal{Q}$ , we deduce that

$$\lambda(\gamma)\lambda(\beta)\chi\left(d(T\gamma,T\beta)
ight)\leqslant\chi\left(d(\gamma,\beta)
ight)-\zeta\left(d(\gamma,\beta)
ight).$$

Thus, all the hypotheses of Corollary 2.6 are satisfied and hence the mapping T has a fixed point which is a solution of the integral equation (28) in  $\mathcal{P} \cup \mathcal{Q}$ .

#### 5. Conclusion

266

We ensured the existence and uniqueness of a common fixed point for two covariant mappings in the class of bipolar metric spaces. Two illustrated applications have been provided.

## References

- N. Alamgir, Q. Kiran, H. Işık, H. Aydi, Fixed point results via a Hausdorff controlled type metric, Adv. Differ. Equ. 2020, 2020:24.
- [2] A. Ali, H. Işık, H. Aydi, E. Ameer, J. R. Lee, M. Arshad, On multivalued Suzuki-type θ-contractions and related applications, Open Mathematics. 18 (1) (2020), 386-399.
- [3] S. Alizadeh, F. Moradlou, P. Salimi, Some fixed point results for  $(\alpha, \beta) (\psi, \phi)$ -contractive mappings, Filomat. 28 (3) (2014), 635-647.
- [4] A. Al-Rawashdeh, H. Aydi, A. Felhi, S. Sahmin, W. Shatanawi, On common fixed points for α-F-contractions and applications, J. Nonlinear Sci. Appl. 9 (5) (2016), 3445-3458.
- [5] E. Ameer, H. Aydi, M. Arshad, H. Alsamir, M. S. Noorani, Hybrid multivalued type contraction mappings in  $\alpha_K$ -complete partial *b*-metric spaces and applications, Symmetry. 2019, 11, 86.
- [6] H. Aydi, A. Felhi, On best proximity points for various α-proximal contractions on metric-like spaces, J. Nonlinear Sci. Appl. 9 (8) (2016), 5202-5218.
- [7] A. Felhi, H. Aydi, D. Zhang, Fixed points for α-admissible contractive mappings via simulation functions, J. Nonlinear Sci. Appl. 9 (10) (2016), 5544-5560.
- [8] H. Işık, C. Park, Existence of a common solution to systems of integral equations via fixed point results, Open Mathematics. 18 (1) (2020), 249-261.
- [9] H. Işık, B. Samet, C. Vetro, Cyclic admissible contraction and applications to functional equations in dynamic programming, Fixed Point Theory Appl. 2015, 2015:163.
- [10] H. Işık, D. Turkoglu, Fixed point theorems for weakly contractive mappings in partially ordered metric-like spaces, Fixed Point Theory Appl. (2013), 2013:51.
- [11] G. Jungck, Commuting mappings and fixed points, Amer. Math. Monthy. 83 (1976), 261-263.
- [12] H. Kaddouri, H. Işık, S. Beloul, On new extensions of F-contraction with application to integral inclusions, U.P.B. Sci. Bull. (Series A). 81 (3) (2019), 31-42.
- [13] R. Kannan, Some remarks on fixed points, Bull. Calcutta Math. Soc. 10 (1968), 71-76.
- [14] G. N. V. Kishore, R. P. Agarwal, B. S. Rao, R. V. N. Srinivasa Rao, Caristi type cyclic contraction and common fixed point theorems in bipolar metric spaces with applications, Fixed Point Theory Appl. 2018, 2018:21.
- [15] G. N. V. Kishore, K. P. R. Rao, H. Işık, B. S. Rao, A. Sombabu, Covarian mappings and coupled fixed point results in bipolar metric spaces, Int. J. Nonlinear Anal. Appl. 12 (1) (2021), 1-15.
- [16] Z. Mitrović, H. Işık, S. Radenović, The new results in extended b-metric spaces and applications, Int. J. Nonlinear Anal. Appl. 11 (1) (2020), 473-482.
- [17] F. Moradlou, P. Salimi, P. Vetro, Fixed point results for  $r (\eta, \xi, \psi)$ -contractive mappingss of type (I), (II) and (III), Filomat. 27 (2013), 403-410.
- [18] A. Mutlu, U. Gürdal, Bipolar metric spaces and some fixed point theorems, J. Nonlinear Sci. Appl. 9 (2016), 5362-5373.
- [19] A. Mutlu, K. Özkan, U. Gürdal, Coupled fixed point theorems on bipolar metric spaces, European J. Pure Appl. Math. 10 (4) (2017), 655-667.
- [20] B. S. Rao, G. N. V. Kishore, S. R. Rao, Fixed point theorems under new Caristi type contraction in bipolar metric space with applications, Inter. J. of Engin & Tech. 7 (3.31) (2017), 106-110.
- [21] N. Saleem, J. Vujaković, W. U. Baloch, S. Radenović, Coincidence point results for multivalued Suzuki type mappings using θ-contraction in b-metric spaces, Mathematics. 2019, 7, 1017.
- [22] N. Saleem, M. Abbas, B. Ali, Z. Raza, Fixed points of Suzuki-type generalized multivalued  $(f, \theta, L)$ -almost contractions with applications, Filomat. 33 (2) (2019), 499-518.
- [23] N. Saleem, M. Abbas, Z. Raza, Fixed fuzzy point results of generalized Suzuki type F-contraction mappings in ordered metric spaces, Georgian Math. J. 27(2) (2017), 307-320.
- [24] P. Salimi, A. Latif, N. Hussain, Modified  $\alpha \psi$ -contractive mappings with applications, Fixed Point Theory Appl. 2013, 2013:151.
- [25] B. Samet, C. Vetro, P. Vetro, Fixed point theorems for α ψ-contractive type mappings, Nonlinear Anal. 75 (2012), 2154-2165.